Directions : Answer the following questions

(Q. Nos. 1 to 30) by selecting the correci/most

approprigle options.

L To understand individual differences
in development it is important

(1) to look at the environmental
factors that affect individuals.

(2)  to consider maturation of the body
and the brain.

{3) to consider both inherited
characteristics as  well  as
environmental factors and their
nterplay,

(4) o ook at the inherited
characteriatics that give each
person & special start in life,

Z.  Which of the following is pot a
principle of development 7 2

(1)  Development is relatively opdSey

{2y  Development takes B
gradoally over a period of B

(3] Exact course and hatiee

development is determined 8t | .,"=:-'

time of birth itself.

2)

P-Il

PART -1/ 9mT_]
CHILD DEVELOPMENT AND PEDAGOGY / aver farmrs = Tingar simes

e : o st (v, ol §30) % I
&7 & fore gl wa aug fAweY §iv0 :
1. ?ﬂﬂqﬁﬁtﬁhﬂmﬁmﬁi
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@) =T fasar T fraR e S

I T s # uer e 2
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7.

(3)
What instructional sdaptations should
students who are “Visunlly Challenged' ¢
(13 Use @&  vanety of  wvisual
preseniations.
(23 Orient hersell so that the students
can watch her elosely.
(31 Focus on o varlety of written tasks
especially workshests.
(41 Speak clearly and wse & lot of
touch and teel materials,

Co-operative learning and peer
tutoring _ in an inclusive
classraom.

(1) should be actively discouraged
(21 shoold be occasionally used |
(3} should not be used

{4)  should be actively promoted

Which of the following is g0
important in an inclusive classioom,?
(I} Standardized testing
(2} Promoting competitive legraing
(3)  Individualized education plag
{4)  Uniform instruction

Which of the following is a
matched pair of learners

b B

X

.wmﬁm'ﬁuﬁﬁtmﬂ

i oA T s e oww %

SR ST A ey 7

(1) % e ol S e o e |

(2 mmﬂﬁm
aﬂrwm“ﬂiﬁ'ﬂﬁil

() I TR fefem e, fan
w9 ¥ Fehafte] o e i wen |

@) WE R W e
WA =t sl @ st g
ST AT |

AT ATy TE wRaw " %
gra fer = o wae T W few
THR & I H ik 7

ek v GRS |
(2)  wft-malt e s iy |

(3) s s e e | q
(4) T AT |

ittt ud I aryfe Redears

:ﬂﬁ?ﬁgﬁﬁ TR i d SR
7

(1) TE-mgwr sl
mnﬁq&ﬁmﬁﬁmﬁil
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10. Which of the following would ot be

1L

consistent with a

constroctivist

environment 7

(1)

Students work collaboratively and
are given support o engage o
tusk-oriented dialogue with each
other.

{3

{2) Teachers elicit smudents” ideas and
experiences in relationship 1o key
topics and plant teaching-lesrming
o elaborate or Testructire their
current knowledge.

(3) Teachers employ specific end of
the term asscssment strategics and
give feedhack on products rather
than processes.

(4) Smdents are given
opportonities o
complex, meaningful,
based activities.

to sed

)

(2)

(4]

190,

¥n

B # A A W1 T HOEIRE
i 3y e s 3 81 T ¢

(1)

(2)

(1)
(2).

(3)

(4}

el s W §
mgmmﬁﬂﬂiﬁﬂm‘f

iﬂi’rmﬁr#ﬁmﬂﬂﬂﬁmﬂj@?!

eI W ; AT T
FATEE B T % oy w5 A%
w1 = g v

3% B % o wee; FEwE B
o= & Tore wem
TR T T Ee

. Frefales & & W T e & wniw

R
i A1
e f

agi e d ?
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13. Which of these is am example of

14.

{13 Transmission of informatign

extrinsle motivation 7

(1) "1 leam so much when I do my
homewor."

(2} “Doing homework makes me
understand my concepts better,

(33 "I compkte my homework
because the teacher gives us marks
for each assipnment.”

4y T enjoy _dning my  homework
beécawse it is 50 much fun,"

In a primary classtoom o teacher

should

(1}  give only non-examples

(2) give both examples and non-
exampies

nol _give any examples and.pon
examples
{(4) ~give only examples

{3}

Which of the following

wonld promote meaning-making
children T

(2) Using punitive meag

(=

L

13,

14.

X
Wi @ WH W oA dhdon o
waEo k7
(1) e e el § om d s

(#4) ‘Wﬁﬁﬁﬁmw
! e W A T e
(3) 0 e g e f e
s wois P o & forn wdl
FEane I

() A T e e s f
T T8 T AeeEs

& W BT § 0 R w
e A1 7
(1)
(2)
(3) eI 1

(1) HEAt = E

(2)  FEEE wTER = T
(3)  wE v g v
(4) s Y gt

16. fr=fifem & @ ¥ wmdt e
et & v ¢
7o -t
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X (6}
17. In the consiroctivist (rame dﬂﬂ is
m“ o
(1) ‘ubala rawa’ or ‘blak slate
© whose life iy shaped eatiely P
expenence. |
fai ) ke Galrg® who can, %
shaped and molded into any fiormn
through conditioning. J
(3) a ‘problem solver gnd & 1
“scientific Investigator, |
(4} ‘ministure adult’ who is less than
sdult in all sspects such us 12, {
cognition, emotions. i
|
18. A teacher’s tole while wsi |
operative learning in ber class
' (1) is to leave the Class
children work on their ow
{2) is to e supportive and
each group,
(3) s to support the group i
the ‘bright .
| |
|
l
|
|

P-II
pesmm——— LR

ammd 7

(1) i o T T
i ) e H 0 T A
s | .

(2w i s 8 SIS
mmﬁmﬁ:ﬂﬂﬁﬂﬂ
mgmmmﬂﬂltl

() T wEEr — W W
mﬁmﬁﬁ-ﬁﬂ'ﬁﬁﬁ|

4} mmrﬂ;ﬁqﬁﬁmﬂqﬁ
F g a8 |

18,

TR B o T FaE W

firroeft wHT |

@) 3% WgE W wedm w f
SRR e = |

(4) T T T E AU A W

., W B rehdt W i
(1) Twror-anfemr whiken & ferm wmie
w it
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20.

21

According to  Piaget,  specific
psychological stroctores (organived
ways of making sense of experience)
are called

(1
{2)
(3]
{4}

schemes
tmages
mental maps

mentzl tools

“With an appropriate question /
sugpestion, the child's understanding

can be extended far bevond the point
which she conld have reached alone”
Which consiruct does the above

statement highlight 7
(1) Equilibration
(2) Conservation
[ntelligence
Zone of proximal devel

(7)

20.

21.

é‘&

X

g % oeR, R wwPes
framd (e © Wi g e ¥
i i) = = w7

(1y T

(2) i

(3) T Y
(4y TR T

ey 3y W e & g0 W = g
wI 30 fiig ¥ g AT S S
fEmE s R eEe N

fPreferfa & & W 6 G
ﬁmﬂuﬁﬁii w
(1)

(2) W

T =t a5

iﬂﬂgﬂtm , FMRYE FHR
wq ¥ e T I=W
mﬁmﬁmmh

(1) TR T Rl
(2) T — Y
(3)  STEFH U we

(4) J
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(8) P-11

One of the major nmn*h}uﬂﬂlﬁﬂf 24, Fefefen | d !ﬂ?ﬂ‘g @t?ﬂm
concrete operational stage i mt%ﬂfﬁ Ll
(1) Ability to conserve (1) oo AT =
(2) Hypothetic - deductive reasoning (2) il A
(3} Secondary ciroular reactions Ry ﬁmﬁﬂﬂ;aqﬂwﬁmq
{(4)  Animistic thinking (4) THERHE
| 25, o P we d ARRER W@
Constructivists such as Jean Pinget | : A 51 o e E A i d ¢

and Lev Vygotsky view learning as
(1) condidoning of responscs

(1) afafEarat & S

(2 Frfer s wiEwa

(2} passive repetitive process A :
(3) process of meaning-making hy (3 TG R e

active engagement
(4) - scquisition of skills

Selecting and presenting stories and

both men and women ;
traditionsl roles is an [effeet
strategy to
(1) promote gender constancy
(2) cncourage stereotypical pender

(4 S ST TErE i §aH ® o |

77. Pttt 9 @ ofie w wewt %
AT A o ) e S TR |

. i
saE  w-watm e o %
w@ﬂ%mmgﬂ.

.__.

e |
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28.

As per Howard Gardoer’s theory of
multiple intelligence, how woulg the
intelligence of a person with the
following characteristics be
categorized T

Characteristics :

“Ability to detect and  respond
appropriately to  the moody,
temperaments,  motivations  apd,
intentions of others.”
{1} Intrapersonal
{21  TInterpersonal
(3) Therapeutic
{41 Naluralistic

Which of the follewing should be the
reasons for assessment of children 7

{iy To separste apd iahel children

nte  ‘nom-achievers’, ‘low-
achievers’, ‘average’ anda ik
achievers’, q
() To improve teachinglearntng
processes in the classroon

(i) To find out what chamges amd

progress in learning thatd

place in the child over a pericd
of time.
(ivi To discuse the capaklitin

(%)

X

g EEE TER S wg-wia femin ¥ e,

feferfn st @ 0w ow =fr 6

wfg, w1 0 W1 & witwq fivm 51w

L

Ferrerand .

“gel W1 FHEW, =W, o wen

st w 30w o F g T w

iR el T R

(1) eifRe

(2) oSl

(3) e

(4) TERETEN

20,

Tl & Wedide % [
HF B T B iy
i il ¢ 2w

} T AT W B el A e
iedt @ ol o oW § o
T |

= o wEma, ST, wEe
ot T e e o = -
forer & wve <= = |

{17 {3, 431, i

{2y (), G, v

() (i}, fiv)

(), (i) (i, fv)

99w el
o ST ¢

{iv)
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P-Ti

x i D
IMPORTANT : Candidates have to 40 quesions
1 to 90 EITHER from Part - H (M
and Science) OR from Part - 1I (Socia!
Social Sciznce),

gthemanics
Studies |

mrarqef - oefanfeat et w3l w00 & N -1
(T & fawen ar wvr - T NEHTT /
wreTfie ey & meA F

PART - I/ W -11
MATHEMATICS AND SCIENCE / T =& faam

Directions : Answer the following questions by
selecting the correctiimosl appropriafe OpHdis.
31. The total surface area of a cuboid is

194 m® Tf its length is 8 m and
breadth is 6 m, then what ks its volume

(in m*) ?

(1} 126
(2} 168
3y 224
4y 112

32. The area of a trapezium is 105
and Itz height is 7 em. If ox

parallel sides is longer than Mhe !

by 6 cm, then the length of
side, in cm. Is

() 16

e R

3 12

{4} 1%

fid . FrefefeT WA % I @1 & o
i e vy e gT
31, Tt oy e R PGS 194w
3 | o swh T G m T AR 6 m d,
7t T R (m ) 8
(1) 126 b
2y 168
3y 24 q
{4) 112
Tt mww eﬁtm
TEe| I TR g
#& 6 ¢m 31w = B,
H'ﬂ.mﬁ-t
15
3 12
4y 18
33, R F 3 om P a9 vE W o
He S O ETEE 94.2 om® R |
A7 B FEH (em® T R (x = 304
=i 1)
() 1413
- 1236
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A

If x Is added to each of 14, 12, 34 ang
30, the numbers so obtained, in thig
order, are in proportion, What is the

value nh.l'.ll".r +97

8

2y 11
(31 13
(4 8

Which one of the following statemeats
Is true ?

(1} A regular polypon of 10 sides has
10 lines of symmetry,

{2} A circle has noline of symmetry.

(3} An angle has two lines of
smimerry.

(4y A rtegular hexagon has only 4
lines of symmerry.

The value of x which satisfies the
equation
10(x + 6) + B{x - 3) = 5(5x ~ 4
also satisfies the eguation
(2) 2Ax+3)=5(-5)+4
(3) '5{‘;*_5-]5:?.{:-—.3 3
(4 Sz-3=x

{11}

34.

[ —

36,

X
afy 14, 12, 34 71 30, 4% A x W
e, o T TR (4 w9 ) e s
o & At € (12 s 9w w O
B ?
i
@ 1
{3 B
{4y B

Cieh ok ko rk ke
[0 Yo7 T UF AeEgdd §i 5H
wafi T #t E |

&1 wiE ol da T
e A
o 1 2 |
U GRS

(1)

(2}

(3]
(4]

x =Rl
=~ 3= 5bx-4)
# o5 e w5 Wt

Wdx—5)=2x4 1
e+ =5x-5)+4
5{;—5}:2{1-3_]-#5
Slx—3)=x+3

(1)
{2)
(3]
{4

1lx - 16y + To T 38 % fou
Sy — 13y — 8 & B T ST =L ?
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38.  Which of the following statements 1s
correct regarding children coming t0
school from rural aceas In the context

of Mathematics ¢

(1) They may have rich oral
mathemntical  taditions  and
knowledge.

(2) They do ot know any
mathematics,

(3) They have paor communication
skills in mathematics.
(4)  They learn  formal

mathematics & it 18 of no use o
(hem.

nesd ot

39. Read the following statements ;

A. Axioms aré propositi
are assumed.

B. Axioms are special
C. Axioms ave definitions.

(12)

P-11
3, wfeyy % wed &, ardor & | frare 4

o e wadl @ forg P A B WA o

wo w2

(1) T we e afee s
o w1 s B

(2) = ifiva ot = e R

@) ey it & wewe freen P
B

4y =% fafgem ofm @ 6w
s T R i T 8

T AR AT q

39. Tefafem
A.

f & o e
|

Ferim vl § |
c. afimpfie afrarmd |

p.  frple % fag w9 W oy
wrara |

frefafenda s s ot ¥ 0
(1) AIMD
(2) SATB

(3 wHEEA
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X )
3. Which of fhe following satements
relects u  desirable  assessment
practice in the context of mathematics
learning ?

(1) Holding conversations and ode 10
one discussion with children call
ilso be helpful in assessing thea,
Assessment should be produet
oriented und focus on the right
enswer of the child.

Incomect answers: of children
-should largely be ignored because
‘we need to focus on children’s
strengrhs,

Only paper-pencil ks are saiie
10 assess students beg

{2)

3

P
O, freffes § ¥ o @ w= T

arfitrrey 3 i e FE T

TR ?

(1) Pt 1 s S
arfem swn o o fam-
Faeraf T St IR B WA R
HTFAH, TAER o g i
fareff 3 fer ww W HBA w
=g |
faenftidf % o I H
ftiom: TG W uAl R
ﬁmgﬁﬁmﬁiﬁﬁtmmﬁ
] S, |

{2)

|4

{4}
'_&-rﬂa

st % T Preafafe o @

1 i
Fsfait i A i e g
i sEEm g 2 w0 2
i e e foma R i s fafin
LUt

(@ sk e i e o

=LA

(€3]

)

(3
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p-Ii
45,

46.

47,

The role of proportional reasoning in
umdersianding the concept related 1
ﬂﬂllﬂd-mwﬂhiﬂﬂ]mw
(1) Zoltan Dienes

{2) Jean Piaget

(3 Lev Vygotsky

(4)  Van Hiele

A student I8 not able to solve those

word problems which involve

tronsposition in  algebra, The best

remedial strategy is (o

(1), give lot of practise questions of
word  problems  in  another
lanpuage.

(2) explain him/her word problem in
simple languape, '

(3} explain comcept of cquality using
alternate method.

; to do all of the follyvwime

(1) Intoduce  compulation  of
problems before develg

. mﬂlm dine
I:;} y MRS 2

(15)

X
45, TR 30 WAEUE WER W AR &

fore, sl firdem ot wifire ) zamw
e &1

(1) W TEE A

oy R

(3) v TR A

W RéaI

. w e fenin ® w oRs

el H ¥ A W we § e

i affem & % ) wEEw

SR S

(1) & AT & aiegs meens &
FTEETH & T ST W ol |

(2] mﬁﬁrmﬁmmwm
ST AT H AT |

3 e Bt o

B OO T
TR W AL T Wl ] B H
W o R, e e e
auEnAl ¥ uieER W gy
FH TR AAE § TEe

FAT |
2) Tt % o 48 @ e

w4 e W
HEE AN T A |

(3 Frfil & geeiion of =00 5
it i gt o |

(4) -\ B W R S

et :

'SPACE FOR ROUGH WORK / TE H1d o fonz w1g
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50.

The value of

[(~4) + 2] x (=3) ~ (-3) [-H x =T ~ 8
+ {d) [(= 48) + 6]

is

(1} =1

2y 13

{3y -l6

4y 9

The Iractions :‘—h, %%, % and l—z; are

writien in descending order 28

[ 222433 44
35393 20
, 4422332
2 3925 3% 29
L, mBu
() 45382075
24 33 22 44
@) 39:38 2549 e

-muiliplicatim'idmﬂt}-,
) @ sybtrsction is not commulative,

{16}

48.

P.
[(=4) + 2] % {=3) = (=3) [(=3) % {=7) -3]1[
+ (4) [(~ 48) + 6]

EARICE.
=1}
2y 13
-16

44 33 22__ 24

Pyt o A Torat ST &

".""." ’2.4 33
(1) 35'29° 3%

(2]

&

24
3G

a3

{43

mﬁw
] S
&R

e Fet § | i T kel %
mq_'ﬁih'

(1) W EREtEE R |

{2y 1 AT o |
S A A TE & |
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5l Hr=x¥x5x7

y= 2 x ¥ x5 %7, and
:;Z‘xa“x!ix-ﬂ,
then H.C.F. of x, ¥ and zis
(1) (157 =7
@ EyxT
@ 30x7
M (0PxT

W52272 =p? 2 g® w1,

where p, g and r are prime numbers,
then the value of (2p + g-r) is

tiy 22
2 73
@ 29
4 2l

&)

5. If the T-digit number 1McS8y is

divisible by 72, then the valme
x4 y)is \

i S

(17)

a3

-2

ot x= 2P P uFur
y= ¥ =8 <7 w0
g= 2 xS 7

%, A x, y 3 o 0 T AT §

{1y (IEPxT

(B (G0PxT

(3 3T

4y (0P xT

AfE 52272 = p* X q® x 1, {‘h
T.ﬂﬁ'p,-q 3R r I Tt
(2p+g-T1) A H q
HPR \ \
2o
(R

7
T-HS| AT A 134xS8y, 72 B
= d, W2+ Y TR R
p

:
2 8
Y
5
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54,

Which of the following is DOl 2
Pythagorean triplet 7

{1y 8 15,17

27 11.60,63

(3)  13,84,85

{4 7,24,25

The measure of an angle for which the
measure of the supplement is four
times the messure of the complement
is

{1y 45

4y 60°

3 e
4) 30°

II the angles, in degrees, of a tiangle
are T; 3x + 20 and &y, the,
must be

(1Y Acibs:
(2y  Right
{3) Isosceles

{18)

P

54, e e Pe T & 2

55.

{4) Obtuze
@
In triangles ABC and @ 57
1

(1) B, 15, I}
(2) 11;60,63
(3} 13,84, 85
4y 124,25

34 <101 1 AT, T S A S

% veep 3w 55w 7 & wa &, Fe
B
(1) 45
(3) 6
L

= aBC 3R DEF 4, 2C = 5,
AC=DF3MBC=EF2 13k
AB=2r - 14T DE=5x -4 %, Tx¥
T R

{1

&
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;ﬂ One side of a trianple & 2 em and the
other side is 10 cm and ity perimeter i5
P cm, where P Is an integer. The legst
and the greatest possible values of P
are respectively
(1} 20and 28
{2y 21 aud 29
{33 22 and 27
(d) 19and29

Let x be the median of the dats

13, 8, 15, 14, 17, 9; 14, 16, 13, 17, 14;
15, 16, 15, 14.
If 8 is replaced by 18, then the medlan

of the data is ¥. What is the sum of the
valoes of x and ¥ 7

5 L]
() 29
(31 a0
(4 21

A hag contains 3 white, I blue
red balls. One ball is draw
random frum the bag What is the
PI'QHHHII“}?M the ball drﬂ\lm is put

X
" s e B T W 5 e g
g 10 em &, SR ¥ GRATG P om ],
w2t P us Pl R | P ow ok
it BYE AW wea: §
[1].21]-3#:.:5
(2 21 3ftag
(1) 22m27

i (4) 19329

| wr e aifeEt 13, 8, 15, 14, 17, 9, 14,
= 16,13, 17, 14, 15, 16, 15, 14 ] W0 =
¥ w&uil;quﬁﬂfﬁmmﬁ
s w AT y | Ty E A

AT R T

(I 28 q
(2 29 @

{3y 30 e

(27 6

2 et 3T 5 o
® T UF g Ml St
R | Prerelt o i o {61 31 R, Wt
w1 Witenar # 7

(N
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Directiony : Answer the follawing questions by
selecting the correctimast appropriate opiani,

61,

Which of the following nutrients are
present in milk ? _

(15 Protein, Vitamin C, Vitmin &

(2)  Carbohydrates, Vitamin C, Iren
(3}  Protein, lron, Vitamin £

(47  Protein, Calcium, Vitumin D

The non-meial used in the purple
coloured solution applied on wounds
as antiseptle is

(1) lodine

(21  Bromine

{3} Sulphur

{4} Chlonne

Which of the following statements

(1) Adris not present in s
(2]  Alr plays important &
cycle,

Alir occupies space.
Adr pas weight,

P11

Blr . Frfafn w0 & 90 & 5

il

63.

Q ATy T HE E |

2u  Fraferfrs 2 & e e R
(i, feefc, fEfE-A

(1) wEETee, ffEC, SR ()
() wta, S (), D

4 B, o, D

il (dmoriee) B w9 4 9R W
e W =T A T % e B e

ik g anie
(1) EE
(2) EE

<t
(3} HEHR
(4} =FAMA

HiE ® e A : ;iw:t
Eﬁi;@@:
(1) Gl ianill
k|
et & |

a1 i T

(4) ST AN EAE |

wi A fan T oAEs W F A sl
= B i o o sl o
T i T TR R 2

A e B

s A (R0 i ot s
e w |
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(21)
Which of the following statement 5. s RmAsHaFE TR 2

:lh-umétlll]:]l:ut'm: ?HH : N, (1) Forithh = ) T TR B R
| structure, e (3 T Wt Wi =i w4
(2) Size of cells is same in a well RIS = HEER (E) @R
orzinized orghnism, B R |
(3 All the cells huve nucles, (3 mi FEEE O wem R e |
4y All cells are round in shape. (4 Eﬁiﬁﬁlﬁlﬂﬁm‘ﬁﬁﬂ?ﬂtl
66. Which of the lollowing are correctly &6, ﬁﬂﬁ?ﬁiﬁﬁmmmﬁﬁmﬂ
matched with their mode of ot e frmma k2
reproduction T #
A B | a T
& Yeast i. vepetative
propagation
b. Potato il, spore formation
¢ Algae iii. fragmentation
d. Fungi iv. bodding

a b £ d
3 W v
{2) 1 v 1 i
() A 1 SO SR L A TR | SR |

i i om

67, Frefefeg # % ¥7 91/9 755 =N

¢y W i i

#7.  Which of the following pn]lutit_

responsible  for  depl W o s % fery Fewerf 8/ 7
laver * (1) FEAREER FE
() Ehlumﬂum‘ﬂ {2y et =

3 uEe aff wEE EEsTEEe

2 Ak |
{4) FET TEATTEES 3 T O

".".':. 14 .' jole iR el ﬂ,:[ml‘;fﬂ
el 1“1.. ‘ L i :

1 ﬂﬂd -m.-.—...--tmﬂ. i
i

=ttt
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69.  Which one of the following is nol troe

of the nature of science ?

A,  Science is always tentative,

B.  Sclence promotes scepticism.

C. Scence & a process of
constructing knowledge.

.  Science Is static in numure.

(b B

2} C

3y A

4y D

Which of the (following
developed by Sclence ?

A.  Equity
R.  Scientific attitude
C.  Scentific temper
D. Statlc mind set
{1y B,CandD
(2) A BandC

y CandD

A and D

isfare

(22)

P11
69, Preufs i 2 W e P $

el 1wy T R

A, g mian i ¥ |

B, s ek ) s o K |

C Prmws eSS A

D. oy o vl R |

(M B

R

(3 A

4y D -‘ﬁb
70, Tl & o feat &

TR

A,

B.

2} ABIRC
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72. As per NCF-2005, good seience
education should be

A. Troe 1o the learner

(23)

B. True to the environment of the
learner

C. Trueto the teacher
D. Truetoscience

(1) Band Conly

(23 A, BandC

(37 Donly
(4) A,BandD
73, “Conducting 8 survey oo the

awareness of people about sources of
alr pollution in learners localities

Which of the following o ‘:}"

process will be most associated m;@
the above learning objective SHarimg i

action verh conducting 7
(1) Understanding

2

(3

14

|

= 0¥

Applying “\ Nt
VL2 can be

T2

T3

X

T vt 2005 & AR, O e

e fovam

A, e A & wh Esh e iR |

g, dfed T % i % i e
B MR |

c. fimre % wiftweh i =g |

n. T ufe e 2 =i |

(1) B 3 C e

(2} A,BsﬁTC

(1 DEFEE

(47 A BIERD

e o 3194 B % F o
Al & TS W
b 15

Ffefiam &

€0

(1y ST |
(2}  HER AT
(3)  HTEIT S |

{4y T AT

Wi
T Tgiften framers
4 gug Wite ety
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T'E‘l-

T6.

7L

By which of the following strategy
meaningful  clarification o0 the
concept of reflection of light can be
given 7

{1

{2

{3)

{4

Why are field visits important in
science T

(1y

(2)

(3

()

Which of the following tool is Ffor
[earmer centered assessment s

A.
B,

=

and drawing conclusions, i

Eaah'-pem:il

(24)

Chart showing the peflection of
light.

Observing reflection of light on
while paper s¢reen by the |earners

Asking closed ended questions
related 1o the comcapt.

Amimated video on the coticept. 1

i iz-casy to conduct.
It collects the information of
sZienoe.

It deveélops habit of hagee
prmng learnees,
It provides hands on expef
to the leamers.

e \\\(\

*!5;

i

75, Pt i § s 7 5 G0 TS
s

(3)

(4

76. fugmdl g g wimeETi2T b

(1)
i2)
(3}

()

o T A 3
o fersmma =T T

T8 HiEE T
E-pae

T o W

P ¥ | T "G T ey S
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9.

Amrita £ trying to set-up on electric

circuit. She runs short of connecting

wires. Which of

the following
materials can she use to complete the
circuit 7
(1) steel wire
(2} plass rod
(3}  mubber pipe
(4 thick thread

80. Identify the correct statément.
(1

A concave mirror forms an erect
as well as inverted image.

(23 A convex mirmor alway
Inverted image.
A ponvex mimor Tofe
well as inverted tmage,

(3

A copcave mirror always

grect image.

(25)

!
|
|
|
|

9.

X
soqen s Fae oftry safEm W
e o & | T e e s i
e 7 W & | wftew w g e W
i =g < T g el 7 & Tobm g

Eeeiuk i ik i
{1) HER T

(21 FEHEE

THE &7 7159
HYE] &

(33
{d)

S8 & =y (=) § f=fefm & 3 =6
TAAETE 7

(1) THIHS A=
{3y e 3
(3) ek et
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[26) |51 ]
Myra cycles to a friend’s house 5 km 83, my fedt e w7 vl & 60 S km

away to deliver a packet. She goes ata @qm;@ﬁ%mmﬁmiﬁlﬁ
speed of 12 kevhour and returns &1 4 m!|ﬂ!‘ﬁ'ﬁm]1m'ﬂm#
speed of 8 kmh, Her nverage speed et & 3Pt et T 8 oo/, I H
during the whole trip is - o Hea
£l 9.6 km/h ot & 1 awh) W

=B
(2) 10 kmMh ) 96 kb
(3 5mis (2} 1 kmhb
(41 20 kmth (3} Sk

(4) 20kmdh

84, Which of the following sets contains 8e, Prefefin § & feg ageg 3 S0 90

only the units of measuring distance ? o9 & HEH B 7
{1} cuobit, year, light year (1) wferm, 99 T
{2}  cubit, metre, light year | ) E‘Eﬁﬁﬁ. 11"|E’1 TERTIEY ﬂ\b

{3) mmetre, hertz, cubil
(4 metre; light vear, herlz ]

(3) e, w4, wew

85. Someer rolls his marble on three
different surfaces spresd out on fAoogs
taut cellophane sheet, carps
newspaper. The force of B _
‘acting on the marble in the increaging

arder is
(1} Newspaper, Carpet, Cello ';'-'"::'5

sheel
[2) Cellophane shedt, Newspaper, _

Carpet (2) e IE, TaTE-, e
(3) Cellophane AR

Newspaper O o - i . = 1 | |
(4 MNewspaper,

Carpet

g6, wiE fve Y fedt veamm am @
it § | 7% w9 W K- o Pl
T . A e e B

it

e
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§7. Which of the following is pot o | g7, Frefefen # & S5 SfwE 5= ey

byproduct of petroleum ? Et 9

(1) Coke (1) THiw

@) Biumen (1 FgHe

(1) Lubricating oil (1) T A
{47 Paratfin wax {43 i 51

88 Aman keeps s plastic bottle, 8 wooden | gx I FEd W wat 4 uw wifes 6t

spoon and a metallic spoon in o cloged Hiet. U TTRE W w3 T I W
ToOm overnight, The room ‘ﬂﬂi"ﬁ TE"HT% 19 30 “E!‘ |
temperature is 30 °C. In the morning i e

qE B W 9E W A TR %

he records the temperatores of the :
e AT,
three objects as T, T, und T,. Which froed e & A T, T, T, €

Prertefian @ & Fea TWg G0 & T
of the following muost likely represents fr o
the relation between them 7 ?::“' * T HHT

(1y Ty=> I"!;=T|

o I T
(3) Ti>T=>T,
{4¥ 'I'|-=':[":.+|='|":,i

89, Which of the following organisgs caz

theic  own | f!:rnli\ .';;.': : BT T o T R 7
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P-II

IMPORTANT : Candidates have (0 do
Question Nos. 31 to 94 EITHER from Part -
Il (Mathematics and Science) OR from
Part - I (Social Studies / Social Science).

wFvi ; afanii ot e wew 31§90 T
At wpr - g e fary @ S - T
P s L Lol

PART - II1/ W0 - 111 _
SOCIAL STUDIES / SOCIAL SCIENCE (Rrfes snee | Greforeh feran)

Directions : Answer the following questions By
selecting the correct/most appropriate opilons.

31.  Assertion (A) : It will be 7:30 p.m. in
India, when it is 2:00 p.n. in London.
Reason (R) ; India is loceted east of
Greenwich at 82°30'E, '
Select the correct option from the
given elternatives.

(13 (A} is false, but (R) 18 true.

(2) Both (A) and (R) are rue apdiiR;
i the correct explanation OF (A

(3] Both (A) and (R] sre trus BUC T
1% mot a correct explanation@e [ 4 :-

(4} (A)is true, but (R) is fulse.

fady . Fymfafn ool & 3T W & fom
/3w faee 10 |

11, afime m“mﬁiﬂﬁmﬁﬂim
i B, e 6 7230 SRS 1 BT |
mm}:wmﬁﬂ%ﬁﬁﬂ“fﬂﬂ'\%

#fRmd o
fan Ty Rt ® & wdt Reel W SR
i |

(3
9 }m%,ﬁfﬂ}ﬂﬂﬂil
1 T et wREum A, B2k cFwEiw
foram e afte ol e s s it
A T8 T W Al R s
e & o v w5t v @ wow
AT B S |

B. TSl R TH-T% U T 24 @
it 3 wfer 7mm |
c. ¥ W A 15 W 7 &
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43, Choose the correct REFSNgement :

atmosphere’s layers beginning E,.:f T | 3, gud o o @ OF T WSS W W

enrth’s surface : o sl e T = e

(1} Troposphers, Stratosphere, S - :

h M-EEU‘SP]TEE‘E, ThEI'I'_I:I.ﬂﬁ.ph:rEJ U ] EIT'H’H'EH: m! TEES,
Exosphere ' ST TS, WewEs |

(2)  Exosphere, Stratosphere, ; Furf ; e,
Mesosphere, Troposphere, o () ; m” G I'EEEEI | iy i
Thermusphere. HTIEN, STEH.

(3) Wlesospiere, Troposphere, (3] WEWEEW, @S, EwEEd,

Exosphere, Stratosphere, | AR mﬁlq@qﬁ |

Thermosphere |
(4)  Stratosphere, Mesosphere, {4) TAAMOVET, WHHgW, A
Thermosphere, Exosphere, ! A iﬁﬂgﬁ AT E |
Troposphere i 4 ’ W
34, Seasons occur due to which of the 34. mﬁimmﬁﬂﬂm w8
following reasons 7 : ERTE 7
(1} Tropic of Capricom recgives | | (1) H=R Erc i ﬂﬁ Ed|
direct rays of the sun, falling oz i
vertically at 23447 8. __ Ry ._ _ Farery 3
(23  Revolution of the Eurthgi#ng () 3
inclination of is axis in the: Same |
direction, / : ‘ ol T T B~ U

{3y  Circle of illumination causedg !' 4 S et e EAT R |

G544 BT ST ETE R

vt % srgan gedt & maves § BN
T WS w7

(1) T ETEATaETES

(2) AR
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The depositional featore of 4 glacier is
called :

(1) Morine

(2} Loess

(3) Levess

(45 Sedcave

Statements A and B describe the

features of which of the following

vegetations 7

A.  This vegetation is found in the
higher latitudes (507 = 70%) of .
Northern Hemisphere. |

B.  ltis also called as Talpga.

(1} Temperate Deciduons Forests.

{23  Coniferous Forests,

{3 Mediterranean Vegelation,

{4} Temperate Grasslands, .

Which of the following is pot 3
of the Ganga-Brahmaputre Basio

{2}

{1} The density of popuiation of plain %

Pl

ﬁmtﬁﬂw%‘fﬂ'mt:
(1) feiw

(7) =Ed

(3) Teay

(4) FHEIAHE

A w st Sl e % 3=
Syt s0°-70°) H g et & |

B, ¥ d o s

\!

(1y  sfTeer aefamE? 99

(1) #er im # Seen T i
A S |

() e g g ot @ sremfea

(3 uft 5% % foe 5w i e o
BB i o A A

) B Am A o A R (5w
ier) Tafa & |

(1) ¥R 3wt oy s
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il _ - {31)

41, Consider the stutements A ang p | = ﬂmkmﬁﬁ;mnmﬂf‘m
gbout land use and cheose the corpest Wﬂhﬂﬂﬁmmmﬂm |
ANSWE : ! o qﬁmﬂmﬁiﬂhﬂ
A.  Land use refers to use of lapg ﬁ;ﬂ:m#h?ﬂﬂ‘mtl

exclusively for agriculture and

ik | &g Pt g 2|

B. Land wse- &  primarily

determined by its tapography. () AmemBSRBEGE
(1)  Aids falseand B is true, ) ARBAT TR E | .ﬁl\
(2) Both A and B are tue. = ek
(3) Both A and B are false, L
: -
(4) A istrue and B is false. (4) ATHE ﬂﬁé

43, Shelter belts help in :
(1 Rutmmng soil moisture,
ﬁ M down the flow of water

g % W 8 W % T W 6
FAR

mﬁﬂﬁﬂﬂﬁﬁh
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44, On the basis of their distribution,
resources can be classified a8 :
{17 Renewoble and Naon-renewatle
FEROUICES
(2] Biotic and Ahiotic resources
{33  Ubiguitons and Localised
Tea0Lreey
(41 Actual and Potential resoutces
45. Which of the following statements

about a ‘diverse society” Is correct ¢

(1) 1t would have differences in
culture and power.
@y I would have similavities of

language, religion und cultire,
It wonld hawve diffe

similorities in  lanpuagsqy wuitures

end Telig,i.u.l.'l..

(4 Tt would have diffe

1 -..' and

inequalitics in language, ml:gi[a%
: L8 ‘ I\

(32)
H,
|i
!
|

| 45.

46.

frer 3 amue ¢ waret w1 g

frarawsm & :

(1) Tl g 3
T

(2) e e 37 3rde WETE

(3} EdEg BT S S

(4 s HETSR ST T HET

e
T T 9 = B

wara fawd o, wd 3R
weFl A fafierand 3t sremmmm
g T A |

Frefeiem vt 3 @ 95 a1 e (d)
g, SR 5 e a7
(1} i S e B A |
(2 WWWWM‘%;
(3) R T S e e |
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48, Which of the following statements

about Jatakas is correct 7
{1y These were composed by ordinary
people, written  down  and

(2)

(3

)

49, wmr.-h af the following statements

preserved by Tama monks.

These
Buddhist

were  composed by
monks; wridten down

and preseryed by ordinary people.

These were composed by Jaina

monks, writlen down  and

preserved by ordinary people.

These were composed by ordinary

people,
preserved b;_.r Buddhist monks,

written  down

(33)

X

s s W e # Prefafen sew 4 9
A add 7

(1]

{2]

(31

()

=y T T F gn
oft, fork 1 Tmgedt oo v
< 2] Heherd Tee 1T |

Tt T A, e g
oft, Fore ETET T Tere T
SR T Fehe feegr T |

ey ] S w1 e et
Pt mTeT=Y T e T S
] HET (e T |
TERT TEAT

o, Bk
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Who among the following compiled
the compositions of Baba Guru Nanak
in Gurnmukhi, also adding his own
compositions to it 7

{1) Gumu Angad

{2)  Gum Arjan

(3  Guru Teg Bahadur

(4) Guru Gobind Singh

Which of the following wes pot o |
feature to Athenian democracy ? |

(1)

51.

All citizens were expected o
serve in army and navy.

2) All  the citizens

assemblies that were Al

(3

were made thraugh lottery,

4 Al ﬂ]ﬂ: free men and wo
above 30 years of dee

1 citize

recognised as ful i :
it ot |

: i '.'EL':T g A Lo ;
i R 4 ‘:’1 q j
"

e
L |

T

(34)

P11

0. Trefafs # 4 feea o SRl =t o

it 0 gY W I T

oY et # wewfer e 7

(1) 7w &g

{2 TE

{31 0% o R

(4y T ATEE TER

Refifiers sy i Frafaia 4 3 95

i e feri 7] ot 7

(1y et AT #= O 8
o T 7 Bl

{2)

T
T TE IR
Gﬁgmwﬁmm
Q Tt |
(4) 30 % Ffees 3y % 39 Tt el ol
wfeat & gof s e o,
N ER AR |
v Pretfier § 3 <9 6 ¥
;ﬁm‘raﬁﬁﬂmwﬂmmt
G

) R e s e

51.

|
{F

b
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1, niateh the following : | 33 Wﬂﬁmﬂm:
(Art form) (Nomencluture) () ()

& Art technigue that i Picturesque 5 el W HE WEAE () AT
enabled making of R I
jmages that looked Fadvil’ W WA o
real. a4t |

b. Painting showing ii. Portraiture b, P il ) FR-Fw
Indian landscape as i e e
goaint, unexplored T, SHTRAT
tand _ 1 e v o0 |

¢. Palntings displaying ilf, History . s # eyt i e
lavish  lifestyles,  Painting | 3 £ Tty Tesmam
wealth & status of Shrrredt, SH-EAE
Europeans in India. i f-Tm St

d. Paintings depicting iv. O Painting Foyeett | <t
scenes from British e
imperial history & '
victorles,
o b (< d

) #i o d i

2y i i o i
gy i i HE v
4y TR

In the late I8™ centory, th:]a
presidencies of Bombay, Madras an
Bengal developed from which of the
following East India Compas
ftrading posts 7
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56. Consider the statements (A) and (B) |
shout Mahaiwari and Ryotwari system |
of reverues and choose the corred! Enswer,
(A) The Mahalwari was devised for ‘
North-Western  provinces  of
Bengal presidency, while the |
Ryotwari was devised for |
British territories in South. '
{B} While im Mahalwari, village |
headman collected and pald |
revenue of the whole village (o |
the company, in Ryofwari direct
seftlements was made with |
cultivators.
(1} Only (B) comecdy expiains
differences  between the two :
FEVEnUS SYSTams. |
(2} Both (A)and (B) correctly explain I
differences  berwesn the  mwo
TEVERLE SySiCIms.
(3} Neither (A) nor (B) compctly
explain differences  beiyéen, M
W Tevenue svsiems. SR
(4] Omly (A) comectdd
differences between
TEVERUE SYSIEms.

57. A tomb of & Sufl saint is known as
(1) Idgah {2)  Culfaroshar
{3} Dargsh EY angg

-

ﬂ TI:I:E m ﬂf 1= 'r;'l..'.--." i R o H
propounded in ele gt ‘#‘i ‘ :

L

(1)

_ . -'.'.::.: m '*.

i

Ao S

P-I

3. mEe o tewe UEE TR ¥

Hﬁﬂqﬁ;iﬁt{ﬂ?ﬂffﬁﬁ?ﬁiﬁfﬁq

e S

(A} TEEER wTE SEEE ® -
o o & TR R 6, S
wAR T S e Wl

(B) et AN eI S
Twing TRE = TH S 3o
= o weE A § e B

WK R 172 ¥ e S o e
Fgm B Ee (A @ == w
e m S et
A) mMETITt o=

(B) ¥ qriiws feeeis S wowe 3
s

ik Al bt B
el
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bt A Social Sclence teacher should ajp
" jowards:
(1] Building perspective
(2) Syllabus completion
(3) Passing the examinations
{4) Rote memorisation

2, Which of the following approaches
" pave heen considered while developing

social and political life texthooks ?

A. Learning through use of
concrete examples and
exXpeTiences.

B, Learning through reiention
based on facts and data.

(1) OnlyB

(2) Both Aand B
(3) Meither A nor B
{4y Only A

63, Which of the following fs true abou

Social Science ¥ .
A, Memorising :
lead to conceptual

B. The status of & “fact'

(37)

61,

62,

X

oy 7 & S T R e ?

()
(2
{3y
{4)

AT e T A O
oAl =i 1w |

el 3l ST |
s T |

At o Tt S St e
wﬁqﬂﬁﬁﬁﬁiﬂﬂﬂ‘ﬂﬂﬂﬁﬂﬁlﬁﬂ

mﬁﬂﬁmmﬂmﬁ?

A
B.
{1
{2}
(3

e i e T S T N\
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65,

What Is the main purpose of &n Dpen-

Book Evaluation ?

(1) Teachers meed not undergo exira
pressure to frame new dquesiions,

(2) Students meed not read extra
books.

{3). Students: cun answer  exactly
according to the textbook.

(4)  Students need mot feel the burden

o rote memorise all facts and
details;

Which of the following would be the
best closure tasks afier the teaching of
the theme ‘The Making of Regional
Cultures’ 7

A.  Small group projects

B. Dance performance by an sxpert
C.  Quixz competition
B, Collage making

) A.B.D

@ ACD

(8 B.C.D

4y AB.C

Imagine you have inherited
kingdom. How would you gn

kingdom stable and prosps

(38)

e

P
Fﬁ.ﬁm: HraiE W 0 T Wy
¥

(1) WA H T T g
TET TE | .
(1 Frii w5 sfiEw e W
T 1 e = T |
(3) faanff z@m O TRATEE %
FET W HHA £ |

@y TRl w et meET AR e
F Tew T H WR TS T
20T |

‘gt Tt w1 P feg % B
F IEET, GO e wi‘m#r:rw
He (e e ol 7

A, ﬁ%m 1 m
B. fewmem

¢, Wel

D

(1)
(2]

,E-..E

. ] SHIE Y U S SO

T & | ¥ s T 5 fe
TR S WY e o

T e v % wed ) us s
Fﬁﬁmﬁﬁﬁfﬂﬁﬂﬁﬁmﬁg

F G a4 Y
(1) forsmo =t 2 e
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While teaching controversial Issues in

gocinl Science class, you should ;

(1) Tuke them up occassionally and
conduct brief discussions.

(2) Tmke them up with proper
planning to imbsle a dignified
discusgion.

¢(3) Kecp in mingl students”
background and discuss only non-
hurtful aspects,

{4) Completety avoid confrontations.

The teaching of social and political life

ghould focus on :

A.  Study of Political Institutions.

B, Study of Basic Principhes.

(1 OnlyB (2] Both A and B

(31 MNeither AnorB {4} Only A

1,  While planning a small group activity
with students, which of the followin
should be emphasised ?

A. Tocreate a challenging task,

B. To feach siudents to wor
topether.

C. Toselect groups thoughtfully.

D, Completion of task.

(13 ABD (2) A CD ®

(3} B.GD {4) AB.C

(39)

T2

mmﬁqmtﬂ

{1

{2)

{3)

B
q T BT A EE R q
#rﬁrﬁl

AC. D
A, B, C

{Z)
{4)

arfis B % oemEm % e o

Frfafmm A dw sl § 7
A, e R wORE AT e o
mmé|_ﬁ o
B. fammdi
AAEHR gE w0 | oy
C, g ¥ s fawg f fem

| .iﬁmmﬁ#ﬁﬁql
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Which of the following sources would
be wrong to use if you have 1o
Introduce Ancient Indlan History ?

T6. ‘*Discusz few more reasgl

responsible for changeg

pattern,’ e ( &1

In context of the above g \
Sucial Science teacher you \wonld
assessing students’ skill of :
(1) Generalising (2) Inferring
{3} Hypothesizing (4 &)

Wﬂ and
uid be the best

?;:#?ﬂi!ifn.-ﬂmum-
 expert for a lecture.
ding and discussion,

i
o
Tl

(1) Miniaturc Partimgs I
(1) Inscriptions
(3 Manuscripts
{4y Cave paintings !
75, Which of the following can a Social |
Science teacher critically address |
while  discussing  the  theme, !
‘Advertisement” ? i
A, Appeal to  the personal :
emotions, ]
B.  Issues of equality. 1
(1} OnlyB (2} Melther AnorB |
(3) BothAandB (4) Only A %
!
i
I

P

74, ARk FOE TEE R EEEE e

e wo & A Taefeiea il A @ ey
R ) T WA e B

(1) e e

3y e

(3  wErE

@) T el

ey oY Faeg-weg W TS w0 U
anfis faee % srenifte g P A R
= o F9-Fm ags W

gt asAE ?

&, SR RTEATAT & 9
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41 X
Consider statements A an .

 peactice of apartheid ; 4B on the 79, -tz 1w W AT M A #R B S
It discriminates '
p. It prevents mingling ar races hug ﬁqﬁﬁ! |
gives equitable public Tacilijje B g we R - e
= | | e, g
Choose the correct option Ty Gy v e g |
() Only B s e | < P e e
(23 Both Aand B are true, (1) #=EmBEAE |
(3) Both Aand B are false, () AMBEATEE
(4)  Only A is true, l (3 AR B;}fﬁ;ﬂﬂ £
(4] FEAA |
9, Who among the followin i :
elected office in a Gram menhﬁ;p;ﬁ 0. ﬁﬂﬁ-‘iﬁ!ﬂ:;i;ﬂﬂg T A
A, Sarpanch R B Eﬁf 7 .«i}l\
B.  Ward Members s
) Socrtary B EEEEEE
D. Gram Sabha Member | @
Choose the correct option :
() AwndC (2] A, Band Y

3 B CundD (4] AandB

ji. Which of the following work is the
responsibility of a ‘Patwari’ ?
(1 Executlng cmployment schemes
for land development,
{2) Preyenting land  disputes
mvestigating complain

(3) AR A AR e e v
(4) vl el Pl e - |

| 2 iR wt & W U A
el T & T S R 7

L
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X (42) By
83. (Consider List - A and List - B. 83, A 3fep e o fem B
List — A has different types of rural qﬁr-ﬁﬁﬁﬁﬁﬁ*mmﬁi
employment.
List — B has different kinds of leans et — B Tt W HHEE |
taken, :Eﬁ % Tﬂ =N
Ligi - A List- B ” W . — sl i‘q‘m
a. Apricultural | Health &nd  off- e Sry
worker season consumption
b. Large ii. Fertiliser, Pesticide, b. wEfeam AL TEE, A, g
i sl e mEw i I GO wr R
c. Middle itf, Government loan fur] . fou T =
farmer :?::tpm-umng ot e ‘qgﬂ' e m s
Match liems of List — A with List - B, ferer (0Tt o WA W)
based on most likely reason for loans : 1 i |
) e | E
(L i i A ] il \
75 S| i i ; i
{3} iii i ii 2 ; .
(4 i it : T

84, Which of the following € e BA. T SR (Pubting out system) %

is sold 1o the weaver by the
ant; and weaver makes cloth
for self-consumption,
(2)  Yamis supplied by the merchunt to the
A i WERVErR AL § ]?l:l"}?pr]nn

L. i3 sold

i

i FE R AR A % N

| frefefand d emm s smeak 7

Hﬁﬁmﬁmm

I (1) HIETE BRI 3 g ) =

| 2, 3N gy st wow & fe

| ] T E |

l (2) R 2R EE R s w R
e &t o @ ok daw =
T & B Fe W =i
AR | |

{3 HIH et W § wied § A

(&) heww & g s w g @0
T 2 3 g S w0
AR |

=
S
o —
-— -

-
—___}
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Pl
45, Gunsidarﬂﬁ:&‘tmemﬂltsﬁmﬁlm.
' form jumbled links in a chajn of market,
wherein ‘Ketchup' reaches g CODSUmer,
A. Sona orders ketchup from 5
neighbourhood shop.
B. Farmer buys tomato seeds frgm
a logal trader,
C. Wholesule merchant bids  for
tomatoes in the vegetable mandi.
D. A small city based [ond
processing unit buoys tomatoes,
E. Marketing company supplies
ketchup to stores,
Choosge the option that represents the
correct sequence in the chain of

market :

iy BD.EC.A (3} CBDEA

3] ABDCE (4 BCDES
86, According ta Appeliate System. 3 piEion

dissatisfied with the verdict given b

Court of the Distriet Judge could appeg
0 which of the following courts ?

o

Supreme Couirt
High Court °
Session Court

(43)

HS,

X
A B E 7 % we w e i,
faaif TTER T ST YT T TR
W 1 FEen w1 A= wh R
g |
A, EAT TSN TR AT W
et wE |
B, e ome @ e s s
Aalem g |
e o T sl et owd |
el % forg weft somn & |
TR JoTE AT i # |

g, fawm w69 el S HE W b
e ot gl el R

(27 T A

)
(4)

it wram w0 fe Mg A 3 B T W
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Rend the statement glven helow &

“The Indian State has mnnr_chgcl-:s
and balances to prevent the MISUSE of
.P““mrf'

Choose the correct option thal
represents the merning of “Indian
State’ in the above siatement.

{17 The Indiun Bureancrucy

(2] Any State Governmef!

(3} The Indian Political Systen

(4) The Indizn Central Government

Which of the following should the

teaching of History focus upon 7

A,  Concepts ol plural
representations and huilding &
sense of historical diversity.

{44)

BY.

P11
Fr Tou & TEA i
P e Wb b by S -
m‘;* e aﬂtlﬂ'ﬂ-ﬁ?'l mt "
& fan mu s A “wndy e’ W o

Wl weifn w0 = v fawe =

ifmg |

(1) T e

2y wHrE o T R

{3y et T e

(4) TG A wET

thiew = oA Pefrfer R a

T BT =T 7

A, g el S EEe SR
Farfereran 3 W= &1

B, famfiiEi = i

|
B. FEncouraging  students o ]I =
imagine living in th | Y A |
relate 1o the exper: i i .
(1) OnlyB i o=
(2) Both Aand B Ghmﬂﬁﬁﬁﬁlﬁ
(3) Neither Anor B w e ._,,i
(4) Only A |

- —

.

frRfnsst it v m § | =
TEE |

A, AP S S el s s
WMR H gt faamem A o
W R aem |

ames fom % semE § e
T i R = aeeieE §
et fme % fiftes Rt =t
I o A A R

D. "l R W s g o

1 st el ¥ ggE |

BFRC

e
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(45)
PART -1V
LANGUAGE -1
ENGLISH

IMPORTANT : Candidates should attempt questions from Part - IV (Q- No. 91-120),
if they have opted for ENGLISH as LANGUAGE — T only.

gnd snswer the questions (91 - 99) Joiirney. % not just the excitesnent of moving
e N 0 mitE e o tu-; new place, there's the anticipation of
correct/most appropriate options : what's going to happen during the journeys
the pleasure at the new acquaintances 1I'm
going to malke; the dissolving of city skyline
imte  lush, woral landscape beyond  the
windows; and the heightened emotions of
everyone on hoard. Indians love to travel
train: they are used to it and prepare

w0 it becomes & picnic on whe
when T am part of it, }'016

01, 4 lowing statements is

pirections ¢ Kead the passage given below t I get a thrill oot of {he stert of every (rain

There’s an air of excitement on the
platform as the train's departure tme
draws close. You've found vour name on the |
wr‘s list, together with the names of
those in the compartment with you; so you i
‘already know your ‘fellow passengers’ -
pames, ages, sex and destination, People a@

pushing past you o gel on, a5 ¥oU show FOME:
coupon to the conductor and he tells yoREtor

hoard.
Your fellow passengers are settling i
«ﬂﬁhg pul their claims to territory with too

wch luggage. A bell clangs but there is 1o
lamming of carriage doors, no blowing oy

L)

He/she loves to make friends.

(2)  Hefshe docs not enjoy a pienic in
the train.

(3 Helshe is thrilled at the scenc
puiside,

(4) The parrator enjoys going 1o a
new pluce.

<t
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means :

(1) movesout
(23 hurries out
(3 breaks awav
14)

Clears out

Which part of speech iz the underiined
word in the following sentence 7

People are pushing past you.
(I} Adverh
2)  Adjecnive
(3) 'Verb

(43  Preposition

Which part of the follngi
hias an error in it 3
“Once g H 'f_ is decision

(46)

7.

By

You are well informed shout y,,

fellow passengers :

(1} after you have been introduceq I

them.

(2). after you have interacted gy
them,

(3) When you hove settled in ygy,
52ats.

(4) even before you have enisred (he
COMpartment,

Who stake a claim to terrltulﬁ the
compariment 7

(1)  Those whose
asctpied,

(2) Thelas taravel lpht.

(30 avon't reserved seqts

who need more space in it,

Even aofter the train has staried

moving why do some people strall
alongside ?

{1 Tl'l'E-_'r' VWHNT L enjay the ourside
scene,

() They enjoy geiting into 4 moving
train,

{3} The doors are sl LpeIL.
{8 They reached the platform lat.

m“@#ﬁ\"@gﬂuﬁm enjoying
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: jrections : Read the exir (47 X
‘F 2t glven belay ¢ used i thie Tves
and answer the questions (100 - 108) 102. 'The figure of speech

by selm:nng the  correct/mosi 910 is
approprinte options : ). Mamonos
| (2} Simile
The work of hunters is another thing ;
(3) Trony
have come after them and made repair
Whete they have left not one stone an a stone, (4 Personification

Bat tllu}r.wml.]d have the rabblt out of hiding,

To please the yelping dogs. The gaps Tmean, 5! 143, [dentify the fMgure of speech used in
mmhﬂsmﬂlﬂﬂnﬂﬂﬂﬂrhmummﬂdﬂ, the expression :

<t
But at spring mending-time we flid them there, ’ ‘And some are Joaves and some S0

Tlet my neighbour know beyond the hill; nearly balls'
And on a day we meet to walk the line __ Nickamr w
And zet the wall between us onee again, A f e

- Fem-l:-n

We keep the wall between us as we go.
To each the boulders that have fallen to & ch. @
1] i

. The hunters’ main aim is :

And some are loaves and some so nearly hallg
HIERES i .
We bave to use o spell to make them balance :

(1) topleaze their dogs.
(2} tocatch the rabbits,

mikﬁ thr: umghbuaurs huild the
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X
Answer the following questions (Q Nos. 106
to 120) by selecting the most appropriate
opiion out of the given options.

166, Many minor and tribal languages are
not available in school curricolum and
the number of speakers is receding in
those langusges. What is this known
as in-socio educational linguistics 7
1) Language minority in education
{Z) Languusge endangerment
(3] Langeage revival
(4} Lanpuage death

107. A teacher asks her learners to find
words and word chunks relating to
different themes based on the reading
lesson. Learners in gronps have to
make word charts of the
category. What is this strojspy

as 7

(1}  Word collocations

(1} Communicative languige

(3} A writing project

(4} Thematic language teaching

&
A student reads th @
& newspaper i a ol
the arficle. WHSFTRMM: (practice)
[ .-' 1
I'I'iﬂliﬂ:

I.I__I.- =y

LY

108,

{48)

P
110, Language is
{17 & strocture formed system
(#) & formation of words, ruiles and
meknings
(3) a human system which changes
frequently
(4) g rule governed system
111. ‘Comprebensible input’ as proposed
by Krashen (1985) Is
(1) exposing leamers to language
somewhat ghove their level.
() exposing leamers o language
helow their level so that they can

comprehend.

{3) enabling learners to read in ‘&E‘;y
languages,

{4)  enabling learners end
ideas,

understanding of the 1ext,
reading in detail every word and
idea for deep understanding.

113 A teacher keeps the students® work of
language use and uses it for assessing
the learners’ achievement, Whal Is
this strategy for assessment known as !
(1} Diagnostic test
[2) CCE
(3} Summative acsessment
(4)  Portfolic assessment

114. A teacher brought real life ohjects like
8 hammer, a screw driver and so on 10

ribe the abjects in five to seven
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al

| piother tongue based multilingunlism

advocates that

(1) leamers begin their schooling in
mother tongue and move on to
add many (at least two) languages
in school.

{2y learmers begin with their staie
language and more on o Bnglish
medium.

(37 leamers learn their mother tongue,
Hindi and English from Class-1,

(4y  all leamers learn in mother tongue

only in primary school.

Which of the following statements are
true of teaching of grammar 7

A Teaching of rules at the initial

during the formative years 5F

language learning.

(49)

118. A teacher alcng with
writes the names of objects in the

classroom (like dooT, black board,
windows etc) in thelr mother tongue
and in English on pleces of paper and
pastes them o0 the objects for learners
to notice the words. What is the

teacher trying to do ?
The teacher I8 creating @ (print)

|

R Janguage fich environment in the
classrooim,

(2) The teacher is trying W teach
letters of alphabet.

{3) The teacher is creating a gituation

for the cridents o learn the

spelling of the words.
(43 The teacher wants het !
werite well. e

a mejor
Ianguage

Jearning.

| dfiguage scquisition happens at
an early stage while language
Jearning takes place fater.
Langunge aequisition
happens in mother O0EHE and
language lcarning happens in the
second languages:

Language acquisition is meaning
formation and languagc leamning

always

<t
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-1

By

e = a |

vyt : et W - IV (0. 91 ® 120) % wwi % e e ot € AT IR W - 1w

TR e i v qu e Wt (S 91 @
99 ) % waH I T e ey g -

s T i i IETE 91w
Wit T Tt | = A O o e A T R
T4 Hiw i | 395 e aee =) o T
Pres w s90 foem =1 % e awE-
Fwre i Rt @ @ wmm e w
e, s femelt wwwwie gt ol e
e wae e i iR F o e
w*mmmmmﬁﬁMW

Hﬁi!ﬁmwﬁgmmaﬁt
e | mﬁmfﬁﬁmﬁﬁ TE T

92,

i % At & Hed T B

(1) s T atar s # |
2y weuee O Fraifon sl w |
() or e S s e
(4) T2d 1 Ha HE |

v e e v A
(1y ™= (23 ~TEm
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W#mm‘ﬁm'ﬂ*ﬂﬁ = T00. sl s R A3 g e d
;ﬁﬂﬂ‘ﬂi? i (13 ﬁ;m:ﬂmﬁﬁmtl
(o ﬂﬁﬂﬁﬁiﬂmﬁ (23 m‘tﬂ‘ﬁﬂfﬂqﬁ_ﬁml
(@) T8 % e A IO (3) T S E |
) e 8 g (4y e Eited TR BT |
(&) TS TR g 101, mﬁ‘wmﬁmm%
.Tﬁﬁ*mﬁwt (1) EE R
(1) s oA i e
@ T i et el
(3 v 3T | )

= sl ST 102, Rz A3 4 % - — T
&2 Py 1 el W Tl o6 AT & 7
ol F Tu oee fami H (13 T, HEL, =, g
FerEEe R wfvshs W myEm (2 i?:'ﬁg.’ =z, e, T
war 3 forg el nifedal & v (3) NS, tEEE, 'HTI?:E.
(1) ] = e -afEes (4) TR, ﬁr:;,

mﬁw@mrﬁ(mn
{ %ﬂam#mﬂm
T W] HTH] A

- o
_1 I.u;‘ iy !.

Scanned by CamScanner



X

107,

106, e Wafher T K w1 W% ST-TeaveTe &

Roashtfs __ &9E & wm,
7w fewwm feo ofs &
I i g |

(1) e, mie
(2) i, arkie
() whem, Wit
(4) Tfiem, =

‘ﬁmmﬁm‘mﬁmg.
5l & iR = R e et
G | 3wt 1 e ol

(1)

(32)
!
|

P
109, T St T T W= SR SmEn

) 2 @ o wewpel T R

(1) = g A Ao ¥ R wefe g
WE TEAT STEA 41 W WA P

(2) e & Aiews 6 FH-EE-
=erd =g HE o ¢

(3) Hess B -t B o
7~ wege e |

R i -, 2N
g § 7
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, et = H 9 Al sl fy
e ST 1 I FEi R |k
% vafmE |

(1 femfem

(2.

(3) WETHTR

{4
fitr o 5 P it R el &

et wEE R |
gy = v w= owlkw 9 s o
Hrarfy

T w6 ges 9 T
(3) ﬁﬁw#‘ﬂrﬁ‘m,ﬂmgﬁm
) TES W & TR - T

e HieR S W i S

(33)

117. IR TMER AW

118.

it 0
& witn s e W d |
(1) Srega wierar

(23 AFET L
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(5d)
PART -V
LANGUAGE -1l
ENGLISH

Py

IMPORTANT : Candidates should attempt
if they have opted for ENG

questions fro
LISH as LANGUAGE - 11 only.

- Part - V (Q. No. 121-150),

g

Directions : Read the passage given below
and answer the questions (121 - 128)
by selecting the  correct/most

appropriate options :

The other day I received an unusual
and very gratifying gift : I was given a
tree. Or rather, I was given half-a-dozen
trees, which would be planted on my
behalf. I had been invited to give a talk Lo
an organisation. After such events, the
speaker & usually given # token gift.
Sometimes the gift is that of a pen, or
something useful, Often, the gift |
form of a plaque or similar copgiety
token. However well-meant,/Su
destined to g.'lther dusi i f
corners. Which is why 1 wag b
surprised to be given a sg oll wh
attested that, in a daﬂgnate.ﬂ plantati
established for the purpose, six tress
wmﬂhﬂaddnﬂlnmynm,upa ‘r
g;re.f.n’ movement being spogsorg
ul'gﬂmznmm;.
111. an increasing!

i o {ree Or
il _t. The

ving gifts has
,El'i].'!' evolved

121, Why do you not very much care for i
when you receive a shirt or 8 Kurta ay

a gift ?
(1) You already have S0 many of
them.

() Youodon'tlike the colour.
(33  You were not asked ah‘éu[ Vs

choice.

(4 The giver

(4 snnoying

» The word 'destined’ means :

(1} decided
() declined
(31 depurted
(4)  fated

124. Name the part of speech of the

anderlined word in the - following
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(55) X

sentence which has un ervor In ii. ind answer the guestions (129 - 135)
Your elaim ought by welecting the  correct/most
i) appropriste pptions :
1o gucceed in that cage
(b With more then 3,000 languages
currently spoken, English undoubtedly is
gin_#%llmﬂ mmongst the richest of all languages The
) Oxford English Dictionary Hets about haifl a
will be substantial million words of which only 2,00,000 are
@ frequently nsed. This Is because, the balance
(1 (W 3,00,000 words sre technical and not found
in ordinary dictionaries. The only language
- S that can come near English is Chinese,
8 @ Apart from being the richest _@
(4 (a) language, English also boasts of being one of
the most widely spoken, second only to
Mandarin Chinese. This remarkabls
36. The writer was thrilled when he was achievement is only because nfﬁ,H
glven : :
(1) six trees
(2) aplague
(3} apen
(4) atree

ring If English has onything original
fhout it. Well, find it out ! Did you ever try
to find ont how many different words of
English we vse in our daily Hife ? Try to
guess and then reasd on, A modern novelist
has a vocabulary of anywhere between ten
to fifteen thousand words.

Wiliam Shakespesre used thirty
thonsand words and the only writer to come
ﬂﬂhhinm.lamu Joyce In “Ulysses'.
‘Ws hmn vocabulary of about ten

What usually happens to the gitt®

|
‘.
1
|

.....
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‘i{ﬂ‘ How many words are usually used by
an English speaking person ?
(1} 5,000
@ 10000
(3} 15000
(4) 3,000

13). Which of the following words I8 most
often used in English language 7

(1) the
{2) is
(3} one
4 a

131. The word that is similar in

(56)

Bq
133. Which F.Hufspudi hl.he'lmdr_ﬂ[mﬂ

word In the following sentence
Did you gver try to find out 7
(1) Adjective

2} | Pronoun

(3} Vetb

(4) Adverb

b

134, English is the m used
Iapguage in th

(1) éehmt language.

|t haz taken words from ofhee

Ianguages.
(3} it has half a million words in ic

(4) Shakespeare hes  writen o
Englizh.

135. ]-n fur Eﬂl"fd ay mﬁmﬂ : 'u"_ we el
timited number of words because :

(1) we are not g genius UM
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d
ewer the following questions (Q. Nos. 135

150) by selecting the most appropriate
Jons.

A teacher pives a puzzle to her class.
Vi students and asks them (o solye it

by speaking out how they solve it
What is this sirategy known as 7

(1} Think aloud protocel
{3y Listening

(3) Picture reading

4y Speaking aloud

. Sanskrit in India today is a

(1) Modem Indian languagﬂ and &
classical language

(23 Religious language
(4)  Hindu language
(4) Modem Indian language

. A feacher of Class-VII asked her
students to read a short story and
come to the class. She asks them to
discuss the major paints of the story i,

140,

141.

142.

X

Bottom-up processing in lsiening is to

{1y decode the overall messages of the
discourse and move down the
micro Jevel units,

{2) encode all ihe qounds  from
speaker (o listener.

(3 upse multiple wiys 10 decode the
eSS Zes.

{4) decode messages moving from
sounds to words, phruses, clauses
and other grammatical elements to
SEniEnces.

What is the following strategy known
as in reading ?
The text is read more slowly and in

detail to get the gist or everall sense

the text.

(1) Summarising w
QE} Skimming 60

S{:affuldi

Immera of class-VIL
r to the textbook of History and
d a theme which can be connected

ttl English language text for writing
An £5SEY.

What is this practice known as ?

(1} Language across the corriculum
(2} Language in leaming

(3) Language and history integrated

A
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144. Match the types of writing with their
corresponding calegory !
a. Personal i,  Letter of
writing compliini
Btudy wrlting ii. Diary writing
c. Crentive iii, Synopsis
writing writing
d. Public iv. Travelogue
writing
& b e d
1y 1 1i i 1
(i S || (R S -
(3 iv iii il i
4y i i
145,

(58) Py

147. Contiewovs Assessment focuses o
(1} TInformal assessment

2y Informal and a combinatig, o
both formutive and summutiye

(3) Outcome and achlevemeny by,
EHHESEI_EI:“[

{(4) Formal assessment

148. ‘Pre-reading’ activify in clasy is 1
{1y connect learners’ ({s‘ﬂm ane

another

(2) enable leamers abot the
story  Whd ould rapd
ah

(3

eot leamner's  previos

knowledge with what she leamsin
the reading text.

149, Pedagogical Grammar is
{1} grammar for teachers
(2) grammar in context to coonsl
grammar points with real I

context
(3)  grammar with formal rules 1o be
applied while writing
(4 prammar of pedagagy
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- ¥
L B |
=

qEE s TR W -V (R, 121 150) % we 3 e St miit © 2R o = I

Tereres Taedlt g @1

T YeEA I8 T W (9.,
v & 1728 %) o FER J0GE T T Fewey

e Pty 3 0 9 off AT 8 T %
o T sl 3wl S v @ wnw @
1 3 | weR 3R i B o it % weEn
s o W o TeTT Wl & Y T Suei
f % o FEl ST § I T B e
| iF T TS TR ST U A e
wanh £ | fres o 3 & wim R
o w9 Tl & fo ween it @ A
T HEw Jar §U S~ e S H fEA
o oftr 2 et +ft o7 1 T TR o KT
S
T | e i el ol
i £, o et of et S A € 1
e T % SR A L \
o e = B & B S
3 |7 o ¢ P G

121, e s T # i o WA W
oy §
Taﬁ‘ﬁﬁ% frgor WEEE HEETH
S AT R E |
it 2 o6 T ugre F we wg
MEE |
Frem o & 29 o v o w0 =g

s = Bl won A
ool R G afkm @ TR E |
123, T g et wrm = =W v
# w2 el & Rt o 9w A
Frfe & | e W W gEsTe Tl
I TR R mﬁﬂnﬁ‘-ﬁﬁmm Gl

08 (i)

it i g e d y

(1% )}
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Yas. ey e e e e e

M =T @ 3,
(3) T, bk The

s Ry i W & AR E
e e

(1) T ST St e T a9 |

(2] mmﬁmﬁ'ﬁlﬁl
(3) e o e w A T |
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